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Best model for HELP J133435.644+374731.720 at z = 0.34 x?>=0.45
OPTx?=0.66 IRx?=0.26 threshold (OPT IR)=10.72 [um]

102 E . Stellar attenuated

i e Stellar unattenuated
—— Dust emission

—— AGN emission

1 = Model spectrum
10 E e Model fluxes
] M oObserved fluxes
100 -
10—1 4
nﬁ"‘ﬁm...
10—2 .

=f= (Obs-Mod)/Obs

T T L T L | T L | T LR | T T EM
10° 10! 102 103 104 A
Observed wavelength [um]

Relative residual flux
o
T

1 1
| 1
| 1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1



